r 1

% (@)
43

T w
| 1T . 4 2 2
L I M~ — = — N Lo o
R 4 sl T Z ¥ G
o-| = EJJLJ LJLF 3.CONTACT SEQUENCE o Zk
+ 1 D — N |
<t T T T \
S = == LJ”~’~/<:> N >~
o CONTACT CONTACT
= 2 o LENGTH POS.  NO. 7 4346 S XL
M~ ‘sﬁm 4. 4mm [POS. #1, 7, 8 14 SEE NOTE#3 =
© J 3.6mm OTHERS 5.5 @
6 =
>
DATE CODE 201, CONTACT DETAIL (5/1)
INDICATION
0.635x13
POS. #8 =8 .255%0.05
POS. #1 0.3350
POS. #1 POS. #7 =~ |0.635t0.03 POS. #7
) _—P0S. 14
=7 T R L o1 3]
o S o g o«
55 G1.1 O S
S| POS. #8 9 POS. #14 1.7 5,05 |
° 0.2 b1 2-p2 3 0.2
NOTE 2-01 .8=0.1 14 Ao <
1 .SPECIFICATION ) 0. o
-OT NO. RATED CURRENT:0.5A S 19 S
RATED VOLTAGE: 125V AC (r. m. S. ) RECOMMENDED P. C. B. LAYOUT
2. CONTACT PLATING
0.76um MIN. GOLD ON MATING AREA,
. RLEBS$E§O%D5ON ;EﬁMéTégéENUQSEQbLATED 7 SQR. NUT BRASS | 2 [NICKEL PLATING | M2x(O . 4
2 (oA ' ' 6 | EARTH PLATE [PHE3RESR| 2 |NICKEL PLATING | ———
< 5 HEX. NUT STEEL NICKEL PLATING | M2x0 . 4
4 CONTACT  PHRRRE2R 14| NOTE#2
POS. #14 A 3 | INSULATOR B |PPS (GF) | 1 | ——— |g Yk34y20
iﬁ )oe 0835 A 2 | INSULATOR A |PPS@GF) | 1 | —— g iEd*dolor
| 2 : A ! SHELL STEEL | 1 |NICKEL PLATING
POS #1 POS. #7 LTR.\DATE | BY REV. DESCRIPT No. PART NAME MATERITAL |[QTY FINISH NOTE
O 635)( 1 3 DATE SCALE UNIT 3RD. A. P
POS. #8 oo Mar.29(2004)) 2 , 1 | mm(INCH) e HONDA TSUSHIN KOGYQ CO., LTD.
. APP. DATE&REV.
DR. DE. CHK. CHK APP 0.8mm SPACING 14POS.
'k 'v NAME RIGHTANGLE MALE CONNECTOR
<0 0 @\\ \%\Q\ REV.
G WL @ [PART NO. ypR-EATALMYPG1 +

ID= HDR-EA14LMYPG1+ EO



r 1

PART No. TYPE NOTE
_ I | —— |/@ HDR-EA2BLMYPG1+
] ) s r«/ﬁ HDR-EA2BLMYPGI-SLE+ [SPRING LOCK TYPE(6.6) | ——
o S
%l E{"u u"} : HDR-EA26LMYPGT-SLF+ [SCREW LOCK (PANEL 0.9) | SEE NOTE. 34
<t - T _ _ —
| I —— @ HDR-EAZBLMYPGT-SLG+ |SCREW LOCK (PANEL 1.2) | SEE NOTE. 4 O\ o @
— H | H HDR-EA26LMYPG1-SLK+ |SPRING LOCK TYPE (3.3) _— o /K N 2 1
S~ e Z— 22k ~ 3) ol T
LOCK SCREWS O n| = o 2\ S
E, m ——— \@I I /\¢ ] |
= n [ l ol AR 7
© 24.8"1 T - - ) -
0.2 = © X @ SEE NOTE #5 41 1= 4.4
(o] . o
— 5.5 w
]
e SPRING LOCK SCREW LOCK 5 2
TYPE TYPE M2X0.4 ;
N PANEL MOUNT CONTACT DETAIL (5/1)
POS. #1 POS. #13
- ) POS. #14  0.535x25=15.875¢.0
g POS. #1 ) .
< - B o — = 0.335¢%0.09 0.635b#0.03 POS. #13
oy V - © [ — > W | ' POS. 26
eelly B1.1 T — . :
+1 O + = | 4:.?. ({]
_|POS. #14 13.8 POS. #28 D1 .T%%5.05 D O © o
1 A0 4 . ] 0.2 é} . () ¥
|
2-@2 . 3%0.05 1 Axo. % 2
TN NN
5H.CONTACT SEQUENCE 2—@1 . 8+o.1 19,201 a ~
I Teoe il CONTACT CONTACT 3o.1s 23.8%0.15 3#0.15
« g-gmm POS‘O#TME’REA’ 26 RECOMMENDED P. C.B. LAYOUT
21 3 == .Bmm
z. 5 5L |
5 @ ! ’@ 8 |LOCK SCREW STEEL 2 | NICKEL PLATING | M2X(0 . 4
| v = 7 |HEX. NUT STEEL o | NICKEL PLATING | M2x 0. 4
. UWZUES — 0 63208' 4% 6 |EARTH PLATE gEgﬁ;EOR 2 | NICKEL PLATING | —
gcgf. V0. : 5 |sar. NUT BRASS o | NICKEL PLATING | M2x0 .4
505 41 2'16532%5 oy 4 |INSULATOR B [|PPS (GF) | 1 ek SoLor
S : A 3 [CONTACT Lo RDHOR 26 | sEE NoTE #2
: A 2 |SHELL STEEL 1| NICKEL PLATING
1 .SPECIFICATION A Me5et®lY. K|Rev ise 1 |INSULATOR A [PPS (GF) | 1 el Lor
RATED CURRENT 0.5A
RATED VOLTAGE 125V AC (r. m. s. ) LTR..DATE | BY REV. DESCRIPT No PART NAME MATERITAL |[QTY FINISH NOTE
2 AT NG AREA: G 76 MICRO METERS MINIMUM GOLD PLATING DATE SCALE UNTT
HE OIS 3RD. A. P
TERMINATION AREA:0.05 MICRO METERS MINIMUM GOLD PLATING Fi\beE%AETUED&AREv 2/1 mm (INCH) HONDA TSUSHIN KOGYO CO., LTD.
UNDERPLATING:NICKEL PLATING ' ' 0 8mm SPACING 26P0S.
3.MATING CONNECTOR R - CHi. | CHK. | APP. NAME RIG:TmANGLE MALE CONNECTOR
HDR-E26FAGT + N N W o
4.TWO LOCK SCREWS (ITEM#8) ARE SUPPLIED WITH CONNECTOR. *.@/\ *_@/\ — Q@@* Y\g&\‘\ PART NO. | HDR-EA2BLMYPGI - ( ) + R]EX'

1D= HDR-EA2BLMYPG1-@+ EA



LOCKING DEVICE

A A+0.3

@ 1.55%0.05
* OO0 0O0O0FTOOO
: 00 0000000000000

END AREA 300mm MIN.

CONNECTOR PACKAGING
AREA (@ TY 450pcs.)

BEGINNING AREA
500mm MIN.

(REFER TO TABLE)

EEn}

IN THE

DIRECTION
OF PULLING

ool
+¢¢¢¢¢2

©380

e

TABLE

PART No.

CONNECTOR PART No.

NOTE

HOR-EATALMYPGT-TP+

HOR-EATALMYPG!

W/0 LOCKING DEVICE

HOR-EATALMYPG1-SLE-TP+

HDR-EATALMYPG1-SLE

WITH LOCKING DEVICE

NO PACKAGING NO PACKAGING 4 REEL PAPER 1
(10 BOXES MIN.) (10 BOXES MIN.) A 3 |EMBOSSED TAPE| P.P.
EIZEIIEEEiEiiziaame.eeee —— e e  ARIREEEIIEES A 2 |[COVER TAPE| P.E
7 '/ 7 V, A 1 | CONNECTOR 450 SEE TABLE
/ / / / LTR.|\DATE | BY REV. DESCRIPT No. PART NAME MATERIAL [QTY FINISH NOTE
DATE SCALE UNIT
S _ A _--_ A /. S _ T.JAN. 1997 % mm (INCH) [SRE-A-PL LoNDA TSUSHIN KOGYO €O., LTD.
O o _ - — - - - —_—t B R Rl APP. DATE&REV.
COMPOSITION OF PACKAGING DR. DE. CHK. CHK. APP. NAME CBBEEE%BE \J\/ZILEFSSEMQEESED
IN THE DIRECTION - | TAPE AND REEL
Q W Q
OF FULLING GO e — ] o k\@\*\“ PART NO. | HDR-EATALMYPGI () ~TP+

1D= HDR-EA14LMYPG1@-TP+ EO




¢1.55:005  LOCKING DEVICE
(REFER TO TABLE)
, , IN THE
* D000 0000000TOOo 2 FuLL
= OF PULLING
E | —_—=
[ =
(°oT) (°oT) (°oT) =
== == == bt et
SR 2D 12 FDE ' -
- \= = iz . iz L= /@
ik I |
< g | | ! | ! | i
L = L = B = \
U EEDD DD S
o — — —
N CYY)) CY-YY CY-YY ]
a
Pt X ‘ ‘ m
; SN
(0000000000000 00000
%g Aot 2+0.15 0.38
- 2420 6.7
: a
2 o
= SS—
TABLE
155005
PART No. [ CONNECTOR PART No. NOTE
HDR-EAZBLMYPGI-TP+| HDR-EA2BLMYPGI+ | W/0 LOCKING DEVICE
HDR-EAZBLMYPG] -SLE-TP+ |HDR-EA2BLMYPGI -SLE+| WITH LOCKING DEVICE
CONNECTOR PACKAGING BEGINNING AREA
END AREA 300mm MIN. AREA (@' TY 450pcs.) 500mm MIN.
NO PACKAGING NO PACKAGING 4 REEL PAPER 1
(10 BOXES MIN.) (10 BOXES MIN.) A 3 |EMBOSSED TAPE| P.P. | —
(EEEIEEEIEEESEEIIEEES — ————— 60000000000 00006 A 2 |COVER TAPEl P E |—
7 '/ 7 V, A 1 | CONNECTOR 450 SEE TABLH
// // LTR.|\DATE | BY REV. DESCRIPT No. PART NAME MATERIAL |QTY FINISH NOTE
DATE SCALE UNIT
S _ A A A / S _ May . 18.2004 % mm (INCH) [SRD- AP oNDA TSUSHIN KOGYO €O., LTD.
O o _ - — - - - —_—t o B APP. DATE&REV.
COMPOSITION OF PACKAGING DR. | DE. CHK. | CHK. | APP. N AME CORNECTOR 1T EMBOSSED
IN THE DIRECTION a TAPE AND REEL
Q Q \ ]
OF PULLING RO IS WS [PART NO. |HDR-EAZBLMYPGI- () TP+ [

1D= HDR-EA2BLMYPG1-@-TP+ EO



